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CHARLES DICKENS WORKSHEET
Are the sentences true or false?

1. He was born as a son of a poor clerk.
2. The family lived in Portsmouth and then in London.

3. Dickens’s father had to go to prison because he sent his son to work in a
factory.

4. He could leave the prison because he inherited some money.

5. Charles could go to school only when his father had some money.

6. At the age of 15 Charles stopped going to school.

7. He worked as a lawyer’s clerk.

8. He became a journalist.

9. His brother signed his first works.

10.His famous novel was called the Pickwick Chronicle.
11.Dickens wrote a lot of novels but he became famous after his death.
12.He married and lived with his wife till the end of his life.
13.His wife was an actress.

14.He had 7 children.

15.David Copperfield is an autobiographical novel.

16.Each his novel finished with happy-end.

17.0liver Twist is an orphan.

18.Little Dorrit has got parents in a debt prison.

19.Dickens never wrote any story.

20.Christmas Carol is a historical novel.
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